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Part-1 Reason-inq (Hﬂ'f)

- Direction. In each of the followmg quest:on a number of series is given with one term
_ mlssmg Choose the correct alternative that will continue the same pattern

E&[ ﬁwﬁmﬁmﬁzﬁﬁwwmwwgaﬁﬁm?ﬁl
‘7".Q1. 235711",17 ' ‘
@ 12 Ly 1B © 14 @ 15

Q2 23 48, 99,203, 413, ... o _
@ 927 V 837  (c) 937 @) 437
Q3. 225,336, 447, 568, 7710 |
(el 690 - (b). 660 (©) 689 W 669
Q4. ABC, CAE, EZG, i ka it _
| (a).. HUL (b) " FAH (c"__" GYL. (,d)':u FYH,
a1 g7 B ¢ GK_ e 2 3 5C
B2 (a)\l, K‘CPCPKw CPKPCK(c) PKCPKP (d) CPPKCP

Direction. Choose the correct alternatlve which shows the same relat|onsh|p

| f?l_?‘,zr eﬁﬁwgﬁqaﬁﬂ%‘rmaﬁmmﬁ

j.‘ Qé6: .Menu Food Catalogue ?

AT R S S
(@) Rack _-‘(b)-' "Newspaper (C) ~ Library’ (d)_ ".Boot(s'

L Q7. 42:56::110:7 '

, (a‘) ‘_'18.2 _'@'_132' _('c) ._13 6 (d.) 1_5-6
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Diréctibn. Choose the odd one out in.queetion 8to1 1.

Ega_r;qa;r‘c@wﬁwm'_aﬁgﬁr : _ g
Q8. Find the odd one out. ' '
C Ema gl .
Arrow , Axe , Knife , Sword Sward -
| W
(a)  Arrow (b) Axe Knlfe .
SIN - (V GEEIN
Q9. Find the odd one out. :
AT |

Bake , Peel , Fry , Boil ,
' (a) Bake y Peel (c) Fry (d) Boi

Q 10. Find the odd one out.

IR G |
MONDAY, TUESDAY FRIDAY, SUNDAY

_(a) MONDAY (b) TUESDAY (c) FRIDAY  (d) SUNDAY -
Q 11. Find the odd one out. B moA : :
Ear, Lung , Eye , Heart ok

(@) Ear (b) Lung” (c) Eye (d Heart
QAZEIf - 13b6C ‘
NAFI:13::VDDA:?

o Aa) A2 L (b) w I () T

'Q13. Ifwhiteis called blue, blue is called red, red is called yellow, yellow is called green

green is called black, black is called violet and violet is called orange what would be the -
colour of human blood?

IR WHE BT AT BT O 8, el B, awrantﬂar ﬁﬂﬁaﬁw s%.

. B BT, mﬁén:ﬁeﬁvénﬂaﬁwﬁmm%?ﬁwmﬁ?$q?wm

T B |

(@) Red - (b) Green (c) o Yellow ' (d)_ Vi lt
s V » 10le

Q 14. In a certain code language ‘324’ means ‘Lrght is bright’, ‘629" means Qn. is

beautiful’ and ‘4758 means 'I refer brl ht colou ‘
Ianguage‘? p o! rs which drgrt means ‘Light’ in the

mﬂmwﬁswmmé Frrgewsns‘a EQQa?rar@i%ﬂﬁ
gaq%maaﬁ?uwc?ﬂarei%‘anéﬁmm‘ew

"'arraraf"é‘? | ﬁm%mﬁmm

@ ez w4 @ g
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Q 15. A clock is so placed that at 12 noon its minute hand points towards North-east. In

which direction does its hour hand point at 1.30PM ?
wa@ﬁaﬁwwmw%‘ﬁswmaﬁwﬁﬁ%aﬁﬁgﬁ

W—qg‘rﬁenaﬁsﬁ?mﬁ?ﬁﬁarmﬁIBOPMwsﬂﬁméawﬁﬁé%ﬂ'

ﬁ‘%rr ZAan?

a) North () South  (c) East (d) . West
@ SR 5 < fRror T

Q 16.. In a class of 60, the number of girls are twice that of boys Kamal ranked
- seventeenth from the top Ifthere are nine glrls ahead of Kamal, how many boys are behlnd

'j-_hsm in rank? _
ﬁgﬁéﬂrfﬁrwmmﬁ mﬁmmaﬁﬂwﬁaﬁ%r

| ?‘wmwsqmmqrsrﬁwsmsa@msam%mﬁ
__;a@a%maﬁﬁa?ﬁ%%? ‘

@) o Bl B R S el 2 @ 23

# Q17. Inarow of girls facing North Reena is 10" to the left of Pallavi, who is 21t from the, -:
#l right end. If Malini who is 17" from Ieftend is fourth to the rlght of Reena, how many grrls
@l are there in the row?

0 a@'ﬁﬂﬁaﬁwa@nwmnaﬂaﬁ?%ﬁmﬁﬁmwﬁa%aﬁsﬂ?ﬁ
,‘aﬂﬁ?@mq?mﬁsarmé@?ﬁsﬁmﬁwwélﬁw%?ﬁﬁﬁ%méaﬂ?
I 9 ward e W g, ﬁm%a@sﬁvﬁﬂsaﬁdqmwélﬁaﬁr@ﬁmﬁw
%’r’ﬁa@m%‘l ik |

:
¥ r o

l @ 7 ) 43 ,y 4 @ 16

Q 18. Ais father of C and D is the son of B. E is the brother of A, C is the S|ster of D, how
is B related to E? '

. AR ACw Rw 3D, Bar it EAasrmésrc D s &, mamaf
ﬁFBEﬁﬁmﬁﬁﬁ? : .

(a) Daughter ‘(b rother-inaw  (c) Husband '(d)'_Sis‘ter—in'-law-

Q 19 B is the husband of P. Q is the only grandson of E who is the wife of D and mother -
in-law of P. How is B related to D? |

BPEb‘rqf%f%IQE Wwwsﬁ%oaﬁqc—vﬁ%‘aﬁspaﬁm%a‘r

(@) Nephew  (b) Cousin (©) Son-in-aw d)g 'Son
20 Pointing to Kapil, Shilpa said, “His mother's'brother‘ is the fat ish.”
. ow is Kapil related to Shilpa ? - ather of my.son Ashish.

5 mﬁWW@%#WWWWW®ﬁWWW%Iﬂ
i B B, ﬁl—qréa‘r\ﬁwﬁlﬁ%?
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E Rk

21D, BemamAew%Iem%m

- Q25 Ifxmeans -, + means +, - means x and = means + then

at 6 i .S : ‘

it ' i Aunt | '
(a) Sister-in-law (b) Nephew (c) Niece (d)

@) T (@ s (@) s (@

Q21. Afamily has a man, his wife, their four sons and their wnves The family of every Son

also has 3 sons.and one daughter Find out the total number of male members in the Whole
family?

Wqﬁqﬁﬁww mﬁamwwsﬁ?oaélﬁm%‘lm

"aaa%qﬁawwagmﬁqwﬁ%latmaﬁgwﬁmﬁwmaﬂ

@4 k). 87 (g -12 7 ntgd
Q 22. In oertam Code DEt_HI is coded as 73541 and CALCUTTA as 82589662 how can

= CALICUT be coded ?

trt%: DELHI' &7 aﬁtc; 73541 Gﬁ?CALCUTTAEh‘r aﬁe82589662 %‘ Fﬁ aﬁTﬁ %-

. mucmaﬁwﬁeﬁﬁtﬁwmﬂﬂ?

o) }(a) 5279431 (b) 5978213 V 8251896 (d) 8543691 |

- Q 23 If ACNE can be coded as 3-7-29-11, then BOIL will be coded as ?

HﬁACNEWaﬁEWQH?%\ﬂ‘taﬁrﬂ%BOlLﬁwmﬁrfﬁﬁ%mmT
(a) §-29-19-27 (b)'5291925

3 1'(C;), ; 5-31-21-25 : V 531 19 25

Q24. A, B, C DandEare flve friends. A is

shorterthan B but taller than E.Cis the tatlest :
Dis shorter than B and taller than A. Who

| has two persong taller and two persons shorter
than him/her? :

ABCDﬁEWW%!AB@W%WEﬁW%ICW

ﬁmﬁaﬁaﬁwﬁﬂ
wﬁaﬁaﬁ?ﬁwﬁﬁm@ﬁéé? o #

@ A ® B (© C o

Hﬁ‘x’waﬁ"m%ﬁﬁ%”ﬁ Eﬁsf‘+"3ﬂ1"rf‘€=r@ﬁ %G-

e xgon%@e%aﬁv"’waﬁww%@ﬁ%totww»maﬁl
., 15-2+900+90x 100 = ? ' |
(8 190 (b). 180 (cy) %0 ‘d)l 60
lfame lus'
begte;en lans pus b’ means ' mmus ‘c’ means muttlphed by and 'g' means leIdeé
- T eafRte ﬁmt%me% b’a%r-aemtt%me%‘ ¢’ aﬁwmaﬁ?‘d’ﬁ

‘18014a6b16d4 Pl . i
‘}' 254 () 288 (d) 1208
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Directions. Consuder the given statements to be true and.decide whlch of the glven
“conclusion/assumptions can definitely be drawn from the given statement.

ﬁﬁrﬁﬁﬁﬁﬁmﬁwﬁﬁ*mﬂ%ﬁﬁ@wmﬁmﬁwﬁvﬁﬂﬁ

B

- Q27 Statements (o)

. (@) _ “All goats are cows.

ol gl T él
(b) All cows are animals.
R g Wy E
* Conclusion (rep).
I Al goats are animals. S (ny
Wi eRAEi wr §1
: @. Only conclusion | follows.
- Bad ey ¢ ey
~(b)  Only conclusion Il follows. -
daer fspd Q|

All animals are goats.

Ry sRatEl

;_(o) Both conclusion land Il foIIows ‘.

”aﬁrﬁws&?aﬁv‘u

(d) - Neither concluSIonInorllfollows /

Hﬁr&ﬁé 1% aﬁ??{é’rfﬁﬁé’x’l
Q28 Statements (HA).

(a) Some cats are dogs '

oo fafemai e &1 |
(b) No dog is'a toy
- BIg A1 e, Rl ﬂ%’r %‘I
Conclusnon (’ﬁﬂiﬁ'ﬁh oty |
(I) *Some dogs are cats : ; : (ll)
: (Il,l,_)‘ Some cats are not toys. o 21 -,
. oo it Ree 7€ €
' @ On!y conclusion | and Il follows. -
T e e § ek 3
(b)  Only conclusion II and Iil follows.
- ad ey R ik 3

(c)  Only conclusion | and Il follows.
- oad fepd ¢ ek
(d)  Only conclusion | follows.

‘B freed ¢ |

Some toys are cats -
5o Raa fafeeri %l

AII toys are cats.

o Reelt fafoerar &1

A
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917
esday of December |
Q29 1.12.91 s the frrstSunday Which is the fourth TU Y o HiTeTAR fd TRy

1
112/91 BT e <RER o, a1 garsy fawwy 199
1 g ? . |
: : 12.91 .
261291 (@ 31
(@  17.12.91 V 241291  (0)

= SO, ures marked a
Directions. Each of the following problems (Q 30 and 32), contains 4 fig ( )
(b), (c) and (d). Find the odd figure.

= %%ﬁﬂﬁma’r(nosoaﬁvsz)ﬁ4mﬁﬂmﬂﬂ§§|ﬁ®@ﬁgﬁi ]
TR ¥ A 2, wanaa'ﬁraﬁqﬁﬁl‘ |

ean o -
| oHBO |
‘ I - K E @'
Q31 R R
R a4 aci

& O @ - i
Directions. Each of the problems (QNo 33to 35) contams four rob[e d
as (A), (B),(C), (D) and answer figures marked as (a), i s frgures marke

(b), (c) and (d). Select a figure from
amongst the answer frgures which will continue in the Same series as’ glven in the problem.
; frgure : ‘

Eﬂ' %ﬁﬁ@m:ﬁ(ﬂosaﬁss‘ﬁ)ﬁmmﬁ ﬂﬁﬁmr‘q“rns‘%

_ ﬁrﬁ'c}ﬁiﬁ'r(A)
(B), (O), (D)ﬁmwﬁaﬂ?waﬁﬁaﬂﬂv‘ﬁu‘rﬂﬁ(a) (), (¢) &R () ¥ axfar Ty ¥ | 5

R DI T Sl B S qrel S § 7 o mﬁmaﬁﬁﬁa‘rﬁwﬁeﬁaﬁm

@l

: Q 33 Find out the next figure -

TSI

w ® " 0 ey e
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3 Q 34. Find out the next figure.

R o

- ’/T//VLT"’ZL‘AY>AT
(A) B  (© (D) (a) (b) (€) - W

O.35. Find out the next figure. - . : ’

FH I 3TN IMpiT Gt

AT O e B o0 o® A A

O oe AA  eo [ __eje Ajp 00 gl o
(A (B () (D) R €)) (b) (C)_:‘, w

Q 36. What number must be added to 6, 16 and 8 to get an average of13'?
| 13@%%%%%@516@?8#&&7@@@
(8. 22 (o) 25 '(c)' 20, (dy.. 1875, e,

Q37. 10 cats caught 10.rats in 10. seconds How many cats are reqwred to catch 100
rats in 100 seconds?

: 1oﬁ%&m‘raﬁ1og‘%qmﬁﬁroﬁ$eaﬂﬁ%a‘r100@@@100@%1#
(a) 100. v 10 (0)20 (d) . 50

| Q 38. Find the pair where relatlonshlp does not exist ?

Qﬁﬁ@gﬁﬁlﬂﬁaﬂmﬂwuwﬁaﬁiﬁﬁﬁl

V Spoon Water (b) Glass Juice . (c) Cup, Tea (d) Knife, Fruit.

| Q 39. Which dragram dep|cts the correct relatlonshlp between Army Navy and Arr
- Force? g

Eﬁhﬁraﬂ'cﬁﬁrﬁm ﬁﬁmaﬁvmgearﬁﬂ%’rmaaﬁaral

<a)oo ®) oo' J@ <d>OOD

Q 40 WhICh diagram dep|cts the correct relatronshlp'?

aﬁa <t ARl | R axfar ]
Godavari, Brahamputra, - M_ajauli
Eﬁﬂtgs[ "y A ﬁ'\Tﬁﬁ[

@ 000 b @ @ O@ @O @ |
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' L M
1 .2.83 4-6 .6
| a - Z
v WX Y
N OP QR S T U Z
14 15 16 17 18 19 20 21 22 23 24 25

Q41. Find the letters

T G2 |
'COMPUTER : FQPRXVHT : : LANGUAGE : ? |
() OXPIXDIG (b)OCQICYIG VOCQIXCJG

. () BCIXCIG L

Direction : Study the figure and answer Q No 42and 43. = T e

R A R T aref o w8 sl R 42 Gl 43 BT TR

Q 42. How many maximum squares are in the following figq:[g??; -

el P R T e @ e o 87

(@ 9 (b 10 () 13 (), 14 k
Q 43. Count the number of rectangles in the figure.

(a) ERIE |« R v 1 (,) 1
8 by 17 8 d 19
Q44. A 'squa'rezshéet is folded aldng dotted lines and he '
: d holes/cuts are-made as shown.

O is hole is cut. Choose the diagram t '
. unfolded completely? - | 9 hat depicts how would paper look when
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Depicts. Hole O
B L e

Depi&s cut
®Cr

(b)o O (c) O |
N S

- -Q45. Fill up the mlssmg number |
2 TﬂTlTa' W HAGET TR ﬂifl 5

1 2 3
11 7. |8,
120 145 |72

@15 (b) 16 () 17 (d) 18
Q 46. Find the missing number. /
| YAl TR G|

@ 25 V a4 @ 47
| Q47. Find the mlssmg number 3 T
mwgél
; 120 6.3
B 5 e 4
. 1285 2 12

T

_ e _
W‘ e $k 1, ! -, SHVETRRT N
S e G 2 "

Q 48.- Fillup the missing letter and number.
2] TIE WA TR AR wqed ﬂﬁl

A2 |C4 |E6
G3 |I5 [?
M5 |09 | Q14

0 0 O 84

" e () 130 (¢) 16 (d) 256

(@ L0 (b). K15 (c) J15 ks
. g, e !/::'“‘V,‘ it Pl A_"-}J‘_j::‘.;:; o5 2R )
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Q 49. Fill up the missing number
%ﬁ&@ﬁhﬁl

824 _(pj 769 ggyr 678

Q 50 Form a meanmgful word and answer as per given code k. :
T Jefarads W S eﬁiﬁﬁ@aﬁ@'%ﬁﬂwwél
DOREK BAY | :

12345 678( .
(@54367821@) 54826731 o) 54862731
(d) 54862713 ‘/'
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- Q5.

a5 ai 23 B i A < uf W ( Y Tw) el
@ 2,10 () 1511 () 1837 () 41, 16
- 11 15 20 12 - 30 60 S 20 25

Q52.

- Q53

(@ 49 (by 56 (© 63
' 28 | 35 45
Find the value of :- . '-

FHIBROT BT 74 I Eb—ifl

. Q54
. Q55

Q56

-Jzaﬁ?%a%Eﬁira%attrﬁﬁummmW)anr&l

13

PART Il : ELEMENTARY MATHEMATICS

Insert two rational-numbers between 3/5 and 2/3.

The rational number lying between v2 and V3 is

- @ies
%, g

5.49 x 5.49 x 5.49 - 149)(149)(149

"5.49x5.49 +5.49x 1.49 + 1.49 x 1.49_

@ 2 &4 et e

The numbers X, X + 2, x + 4 are all prime numbers What is the value of x? -

X X+2, x+4wtt ms’nw%* a’r;ximm?r ST Y|

J 3 (b 2 (&)= (d) 17
- How many factors of 25x 39 are perfect squares’? |
25x36$ﬁv_cleff_{0fﬁl1fﬁl """ 3 - s
& ° - 18 - d 4
If 3 r_ ‘

?Ii%: 3z

) 25 (o) 27 * a(d) ver Dk

A1

@ 125
. If sum of five consecutlve integers is 'S’, then largest of these integers in terms of S

Q 58. A number is as much greater than 36 as is less than 86 Find the number

Wmseeewz%w%‘ﬁﬂnma%aesaeeﬁa%lwmaﬁ

71 L@ 81 () - 51

J 61 ' (b)

W’Ilb T-
| ?mqﬂgﬂﬁaﬁaﬂm‘s%maﬁmﬁ?'ezﬁwﬁﬁwﬁmﬁemﬁ
ST BT A/ Qe B

| S—10 By © S £l (o) 5+1o

(a) 810" (D) :{ RV 4 |


Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft


o sum of LCM and HCF is 1456, .

h
Q59. The LCM of two numbers is 90 times thelr Hcfm-tl;er
If one of the number is 160, then what is the othern

;rgfm qs?aﬁfb‘r :
. ﬁﬂwﬁmwmwﬁgowﬁﬁ;ﬁ%‘? ‘ Sﬁ—‘r | m
. 1456%IﬁWﬁWW1GO%ﬁWW S e
‘ ' 184
(@ 120 " () 136 V 144 (d)
Q 60. Find the square root of
mf’i?i?ﬂﬁ

. 0324 x_0.64 x 1296
0.729 x 1.024 x 36

Sy A ey o © 2 .0 al A

Q 61. The duplicate ratio of 242 " 3\(5 is Gy < e, SR P
2¥2 1345 Eﬁrwmw%‘? FEE i B € e BRI R

@) . s/ 8:45 (o) 23 () 81451
Q 62. Find out the value ofx1flogx4+|ogx16+logx64-—12 "
I Iogx4+logx16+logx64—12 a‘r X T tnﬁ'arcr P |
(b)y 2 '6 ""’7-3 : ‘(El) 5.
083, I BBy sla b= B T
. Thenwhatis (a?- b2) (az+b2) equal to

afe (a-b): (a+b)-1 5y
a‘ra?rrir%(az b2) (a2+b2)m¢am-\r§?

Q64. Find: the value of x and y in the equatlon g, Ao T

T%%ﬁ@ﬂﬁlﬁ?”lﬁﬁxﬁ?ymﬁﬁmﬁl

d 3x—y+1 2x+y+2 3x+2y+1
el g 5

(a) X= 2y_'1 V X—1y—'| (C) _X—-'l y—-‘l (d) x=1y:2.
Q 65. Three traffc hghts change after 36 seconds, '42 '

respectively. If they are switched on now, after how much
RS 36 VTS, 42 VFHTT 3R 72 %r;gllgh?%mwnk toget%er;ﬁ
ﬁaﬁmm%ﬁm%wm%*w%m@?wq L ]

8 min 44rsec (d) 8 min 54 sec

seconds and 72 seconds

y 8 min 24 sec (b) . 8 min 4 sec (c)
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Q66. The age of x is six tlmes that of y. After 4 years, x is 4 times ejder of y. What is the
present age of y?

x®! SH y W B AT 8| IR ﬁlo{?sﬂ?{ xyﬁﬁl‘x’{]ﬁTa@TﬁG@Tﬂia‘raﬁTﬁ
ﬁ?yﬁadaﬁsaw%‘?

(a) 4 years (b) Syears. (c - 6 years . (d) 7 years
A 1 s g ' & areT - b gretl
Q 67. One year ago ratio of age of Rohit and Sahil was.6 : 7, their ratio four years from
- now will be 7 : 8. How old is Sahil?

E wwqﬁﬁ%ﬁaﬁ?sﬂ%ﬁaﬁwaﬂaﬁwa?aﬂmwmsﬁ
S AU 7 as‘ﬂma’rm%w%azﬁrwﬁmﬁ%? ‘ '

(&) 40 () 39 _(c) Ty %

- Q68. A fraction becomes 2/3 if1is added to both its numerator and denommator Same _' ;
fraction becomes 1/2 1f 1is subtracted both from its numerator and denomlnator The
fraction is :

Qﬁfﬁﬁ%a@raﬁvs?ﬁuﬁ1w%mw%‘ataszlsmﬁﬁﬁ%
aﬁ?uﬁsﬁfﬁﬁr%mraﬁ?s‘\fﬁ1Hammmt%“atasuzaﬂm‘cﬁsla‘rﬁr—ﬂ
EIGHCE S IR

(@) 47 v 3/5 (@) 9
-Q69. Aman sold two houses for R$:28, 700 each On one he mcurred loss of 10%, while
on other he gained 10%. The transaction gives :-

: - wm#a‘fngmo*ﬁaé‘mwasﬁto%m‘a@nrrfa%gﬂ%#ﬁ:
'@10%mwgaﬂ|atmﬁswmﬁmmam? Fugt

(a) ProfltJNelther profltnorloss (c) Loss - (d) : Insuffi'cteht data :'

"~ Q70. The income of A & B.are in the ratlo of 4 3 and their annual expenses are in the
ratio of 3 ; 2. If each saves Rs 60,000. Find A’s income,

AQIRB z%éﬁamaautﬁm%aﬂvsaz%wm@%zﬁragqmszalaﬁ
a‘ﬁrsooooawﬁ%a‘mwwaﬂrm - 3

. Rs 2,40,000 (b) Rs 72,000 (c) Rs 19,200 (d) Rs 48,000
- Q71. Fow long will it take for a boy to run around a square fleld of area 25 hectare atthe -

speed of 10 km/h?
as%as‘rzs%aém%mﬁmwﬁaﬁm %ﬁmvaa%wﬁrﬁa‘tsau?

waﬁgwwﬁaﬁmmwaw? A |
- 12min  (b) 14min . (c) . 10m|n . (d) : 8‘m|n g bk
0 -ty e SRR LI T A = - ol

Q72. If the price of the cooking gas rises by 15%, by what %, should family reduce its
consumption so as not to exceed the budget on cooking?

IR W Y AT A BT e 15% 98 ST & ot 9ar R URAR @ R
ﬁamammwmmm%mwwﬁaWW@?-
(a) 121 % Vlf" % . () 14% % (d) None of the above.

23 ; 4
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- Q 73. Population of a city in 2004 was 10,00, 000. Ifin

an |ncrement of 15%,

2005 there 1S of 45%. Then find out

crease
in 2006 there is a decrease of 35% and in 2007, there is an in

h lation of the city at the end ofyear2007'7 15%, .
t epo%gﬁllogf%?ﬁe% 1 SR 10,00,000 T | afe 2005 ﬁo/?e'\’ﬁ o gﬁ?ﬁaélag:‘
ﬁ’rﬁ%moﬁmss%ﬁaﬁ?ﬂgﬁ?ﬁéeﬁ?mw sﬂﬁctso aaﬁ’dﬁ
?ﬁaarﬁ%wazoma%emﬁwﬁaﬂﬂw

2 11,75,045 |
(a) 1080000 (b} 10,83,875 (c) 10,84,.8.74 {d), .

; ea
Q 74. A sum of money becomes 3 times in 5 years at simple interest. In how many years

f)
“will the same sum become 6 times at the same rate of simple interest”

wwmaﬁwﬁﬁ5aéﬁ3wﬁaﬁ%lﬁaﬁﬁ%aﬁﬁﬁw
Wma‘\fﬁﬁo—cﬁaﬁfﬁswg‘ra@ﬁ? A .

j(a) ' 10years (b) ° 12years v 125years ,'(d) | 10.5years :

Q 75. A sum of money on compound interest amount to Rs 9680 in 2 years and Rs 10648
in 3 years. What is the rate of interest per annum?

58 U9 IHga) wlaﬁﬁaﬁﬁgﬁsoﬁﬁmésﬂ?sﬁﬁ 10648?663[:'
m%lﬁmﬁﬁ?mﬁawawﬁ? '

(@) 5% @ 10% (c) '15% (d) 2(.)%‘

Q76. Two numbers are less than third number by 30% and 37% respectlvely The ;

percentage by which second number is less thanfirst is

G AWK, ﬁﬁﬂ%wﬁso%gﬂ?smméla‘laﬁﬁﬁiww trsﬁ:paq

R fa wfere & Bier 87

2 0% () 70% (c) 4% () 3%.i

Q77. Inatown of 3600 eo Ie 8/9% po ulatlon
L e ! peop pop is men, 10% are married. Find the % of

AfE @ W F 3600 AT & & R, grgn 5 :
ﬁm%ﬁ%laﬁaﬁraﬁswﬁﬁﬁﬁqﬁmaﬁaﬁ?@mgﬂw%aﬁ? 10%

(a) 4% (b) 20% 9 25% (d) 30%

Q 78. Boating at 6/7" of regular speed in a lake , the tourlst - .
otl L g
time will it take when boating s at usual speed? aotldle _by 30 min? How much

e qzﬁeﬁaﬁﬁuﬁﬁﬂﬁfa%mwhwzhf%rrm ﬁﬂﬁﬂ.ﬁ' "
ﬁﬁblﬁm%mﬁlﬁmmﬁﬂiﬁWmmmm
(a),. | |

2 hr (b) 3hr (c) 1.5 hr (d) None ‘
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0

‘ '?UW&‘H%%‘I?ﬁWW&?ﬂWWI

ar

Q 79. A rectangle field of length 242 m has an area of 4840 m2 What W||l be the cost of
fencing its penmeter if cost of fencing is 50 paise/meter? :

4

B e wwaﬁaﬁwﬁmziﬂa&ﬁqwmwmaﬁvﬂﬁ%lﬁﬁ
AWWWSO%/W%H#GIGM%GHCM t{ﬁaﬁaﬁ‘aﬁiﬁﬁﬁwﬁﬁﬂ‘r

=l g?.

@ Rs262  (b) “Rs 270 o (c)“ 'Rs'320 (d)’ ; HS 258

. Q80. The area of four walls of a room is 660 m2 and Iength is twuce the width, ht bemg

11 m. Find area of ceiling.

wwﬁaﬁw%m%waaowﬁa%aﬁvmws wmﬁﬁ@éﬁﬁﬁ

V 20 () 190 (9 210 (d) 220

Q 81 Ratlo of two complementary angles is 1: 5. What is the d:fference between them ?

BIVI- BT AN 1 : 5 | Al & S+ ey 7 o &7
ey 60°  (b)  90° (@ 1200 (@) 160°

Q 82. If a man travels with a speed of 2/5 times of his original speed and he reached his

office 15 minutes late to the fixed time, then the time'taken with his original speed will be?

AR g ol ST Hor TRY FL 9/ A W & AT BRaT 2 ek 9% A

Wﬁﬁf\mmﬁmﬁ%éﬁﬁq@m%lﬁwﬁ%wﬁwvﬁﬁ

Braferd # Uged & f’?ﬁ %?IT i SRTT?
@ 10m|n - (b)‘_ 15m|n ey 20min e (d)’ 72‘5"min'

Q 83 Find the value ofx in the given flgure where PA is parallel to QC ,
ﬁﬁmaaxmwmaﬁ T8l PA, Qozr?qw:ﬂav%‘l

@ e goae @ e

Q84. The speed of boat upstream and speed of boat down stream are 7km/h and 13 km/h

R respectively. What is the speed of stream and speed of boat in still water?

IR A TR Fer diel IR A AT @) Ry 7 RAever 2 ik AR 9 ave

13%ﬁm%1ﬁmﬁ)ﬁ?§ﬁﬁdmsﬁ?mﬁﬁfﬁ%ﬁ?ﬁﬁjﬂ?

V 10 kmlh and 3 km/h (b) 15 kmlh and 9 km/h

(¢ 20 kmlh and 6 km/h (d)  40km/h and 12 km/h
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= time taken to complete the work?

| ﬁn%ﬁaﬁmméﬁéla‘raﬁrﬁ%mﬁﬂﬂw

0N

me work in 12 days.
n of work, then

18
rshal can dO sa
d HEL ays before completio

e d o W T

aﬂﬂﬁmﬁﬂpﬁﬁﬁa
A & ofd ﬁmmm?

Q 85. Ajay can do a piece of work in 10 days an
They started working together but Ajay left the work 2

35T TP B B 10 oA H QW
ﬁném%m‘raﬁrwaﬁmmw

: 7%days
y 6— = days (b) 5 days (c)_ 4— days (d) 7 Y 3 8
: - m d 5women

Q 86. If 3 men or 4 women can p!ough a field in 43 days how long 7 men an _

taketogfgughglgqsﬁ?4w%ﬂﬁw@ﬁﬁ43f&ﬂﬁmaﬁ% a’raarﬁﬁr?wﬂ,_':

-aﬁﬁﬁﬁﬁﬁfiﬁwgﬁqaﬂ?sﬂﬁmﬁﬁmﬁﬁdéﬁ?‘

(@) . 3days . (b) 7days v 12days (d) ~15days -

. Q87. Acandoa biece of work in 70 days and B is 40% more efﬂment than A.The number

of days taken by B to do the same work will be?

ATH BT BT 70 FT § Bt & 3R B, AT 40% WW(W) él-ﬁ_ o

._maswmamammﬁeﬂmv

(a) 40days , '(b) 60days ( w 50days > d) 45 days'

Q88 A wooden box measures 10 cm by 6 cm by 5 cm. TthkneSS of wood is 2 cm. Find
- the volume of wood required to make the box.

g Qﬁaﬁiﬁrﬂq\mlwmlmmﬁﬁr 6 WAL sq#ﬁﬁ% E{Ebé’f 5
mzﬁﬂélﬁm%mmﬁmmwmmé a%

: (a) 206cm® | (b) 207 cm3 v 204 Cma gl (d) 208 Cm3
Q89 Whatlsthevalueof SERES e '
O e tan A- sin A - i et n - o

sin 3A ‘ ‘ g
(a)' _SsecA . (b) seCA- ‘(c) se B - . ;e
: —‘_1_005 A ' 1+cos2 A e ﬁcio?;\ W\Ione of these.

Q 90 The Iength of a pendulum is 60 cm. The angle throu

describes an arc of length 16.5-cm will be - h which i swings when its tip

g Yuger &1 ovETs 60 WAL B | W9 ug

1 crard T & 9 g '_W%Gﬁ?m%l‘mwsﬁﬁ

e (a) 5 1'5°.30' T (b) 15°45' v 13015. ‘ ' _ R
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19 LR et o ﬂ
091 Find the value of . £ gy oot #&
DT HH FT BN |

sin e +__sin© oo ta-n (gool-rv"e). :
cos (90°+©)  sin (180°+8) . coto .
(B . 0 S e e ks W (S AR U

Q 92. In the given figure, O is the céntre of a circle and diameter AB brsects and chord CD
_;'at a pornt E such that CE = ED 8 cm and EB = 4 ¢m. The radius of circle is

M & T e ¥ o q0 1 A2y fag € ok saeT @ AB, @ co @y

ﬁ%“’\’%ﬁﬁ?ﬂﬁﬁ%ﬂm%ﬁace ED = 8cm3ﬁ‘\’EB 4cm. a‘raﬂﬁrga

v 10cm B 12 N o) ecm (d) 8cm |
Q 93. In a triangle ABC |f cos A = cos B + cos C what is the value of tan A tan B - tan C

% BT ABC % AR cos A= cos B + cos C g a‘raara%tanA tanB- tan
CHAT@R] |

W 0 o) 1+tan'A‘-F_tanB+‘ta'nC'
(d) tanAtanBtanC -1 i A4

Q 94. An aeroplane ﬂyrng ata herght of 300 m above the ground passes vertrcally above
a plane at an instant when the angle of elevation of two planes from the same point on the
ground are 60° and 45° respectrvely What is the height of Iower plane from ground? -

3 TP gaETeIS ST R 300 1. a%tﬁrrg‘q?e—ewé | 95 TP TR G
SR 3 o W%WW%W@?@H@WWWBQ 3R 45° Eﬁ?ﬂ%‘]a‘r
Wﬁ?:ﬁamﬁm@maﬁwﬁmﬁaﬁwe‘?

. (@ 500m ( 1003 m. (c) 500 «l‘f m d(t?]) t'tw15 gf§*+1t ,
" 9. T 0 obs%trons is 15. On checking it was found that two observations’
Were wr:r?gr;;i%r;gdzas 3andé6. If wrong observatlon are replaced by correct values 8 and

4 then the correct mean is

‘ 20Wmm15§|mmwwww%ﬁmwﬁr
3@heomwe|uemmwmsrmfﬁwwmmé

@ 15 () 1515 (0 1_5-35 «@‘ i
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osne to each other on either side of a

Q 96. Two poles of equal height are standmg opp +. The angle of elevatlon of

road which is 100m wide from a point between them on groutnrs DR o
tops of poles are 30° and 60°. The height of each pole in mete W—W &

‘ﬁ@’%WﬁH@%eooiﬂaﬁ%W a—rﬁw '
‘eea%wmaﬁmooeﬁveooslmweﬁeeWﬁmtﬂﬁﬁ'W',

,@’ 2‘5\13»»,' (b_)' 20w13 i ..-(cl 28¥3  (d) ‘30*/3'

Q 97. An electric pump can fill a tank in 3 hours. ‘Because of aleak in tank it took 3.5 hours
to fill the tank. If tank i is full, how much time will it take for leak to empty it?

w%ﬁﬁmﬁwwaw&ﬁm&m%ﬁﬁﬂémﬁaﬁmsﬁa%w
assszruéeﬂtsla*ra—dﬁr%cqvaﬁenqmegutaaﬁﬁsﬁﬁﬁo—dﬂtwaﬁm?

(@) - 25his () 19hrs - () - 20his  (d)y 21hrs
s URYIEET,. p ?Q.‘ElET 'QOEIET YR

Qo8. A sphencal ball of radlus 3 cm 5 melted and recast lnto three spherical balls of
radius 1.5 cm and 2 cm and X cm. Find the value‘of X.

T MR Vg ORI, o 3 A, & B REemr T iR §F =9 MR
e fmas e 1.5 9, N?rtfﬁ aﬁ?xes’r %‘mtxav-rema—cmiﬁo—cm%‘l '

(@)  5em s)’ 2.5¢m @ Bam o (q) 3 2.25cm

-Q 99. Circumference of the base ofa9m high comcal tent is 44 m. Flnd the vol of air
contained in it.

TF 9 Hex T qvndq)cdéa?ﬁsﬂwaﬁqﬁé’lmfﬁ?{%laﬁwﬁﬂﬂﬁﬁ
aﬁﬁa@mmﬁemaﬁl

(@) ~ 430 cm3 . v 462 c:m3 (c) 472 eme (d)- 492 cm3

Q 100. The average marks obtained b the stude e | '
marks obtained by 35 boys are 40 and a\Yerage marknstil;rt]a?ngljazi ts;lr: 4? tlfdthe s
-. then what is the number of girl students in the class? el el g

wmmﬁﬁm@atﬁm@wwm%Mﬁzsmmm S
TR U B8 T § iR asfEal grr 4 saﬁeaww%&ns% o g
Pell H foe il BT 87

uf Viﬂ

@ ® 2% 915 @ 1


Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft

Desktop
Draft


Download TA Exam eBook

shop.ssberack.com

Officers Recruitment

TERRITORIAL
ARMY EXAMS

PAPER 1

(7 PART - | : REASONING
(7 PART - Il : ELEMENTARY MATHEMATICS

PAPER 2

(7 PART - | : GENERAL KNOWLEDG
(7 PART - Il : ENGLISH

SOLVED

PAPERS
FROM

2016 & 2017

A complete guide for TA exam preparation

shop.ssberack.com

PRACTICE
SETS

TERRITORIAL
ARMY &%

FULLY UPDATED:

(7 2016 - 2017 solved papers

(7 10 Sets with 20 Sample Papers

(7 2000+ fully solved MCQs

2016 - 2017
PAPERS ¢

2000 + SOLVED MCQS FOR TA EXAM



https://shop.ssbcrack.com/product/10-practice-sets-for-territorial-army-exams-ebook
https://shop.ssbcrack.com/product/territorial-army-officers-exams-ebook

